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5. Solve Z—i’ T(;ya-y)' (10 points)
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7. A1000L tank initially contains only pure water. A hose begjns adding to the tank at a rate of

5L/min with a concentration of iodine salt of 40g/L. The well-mixed solution flows out of the

~ tank ata rate of 6L/min. Find an equation that models the amount of iodine in the tank after
time t. Find the maximum amount of iodine in the tank (if one exists). (10 points)
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8. Use the method of integrating factors to find the particular solution for xy’ = 2y + x3 cosx,
y(m) = 0. (10/points)
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9. Rewrite the equation y’ + Sy = 3ys as a linear equation. [You do not need to solve.] (8 points)
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